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Exercice 1:
Q. hi—hy
COP =y = h, — hy

h, =396 kJ/kg ,h, = 425 k] /kg ,hs = hy = 228 k] /kg

_396-228 168
"~ 425-396 29

cop =5.79

Exercice 2

hy = hy = 74.527 = h; + xhgg ; x = 0.353
ms =mg =my; —xmy = 0.647 kg

hs = hg = 17.8 kJ kg

Q, = mg(hy; — hg) = 0.647(155.536 — 17.8)

Q, =89.1kJ/kg dem,

V.C Premier compresseur :
sg =S, =0.7744 k] /kgK , Pg = 0.1509 MPa
hg =196.3 kJ /kg
V.C Mélangeur :
L’application du 1% principe de la thermodynamique donne :
mghg + mih, = my{hs + mghs
hs; = 190.016 kJ /kg
hs , P; = 0.1509 MPa = s, = 0.7515 kJ/kgK
V.C Deuxieme compresseur :
P, = 0.9607 MPa, s3=s,= h, =2258k]/kg,
V.C Condenseur :
Qy = my(hy — hy) = 74527 — 225.8 = —151.27 kJ /g de m;

COP = Qh__ Q@ _ 1.4433

W —(QL+ Qn)
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